Forslovs BK
Torsdag 2019-05-23

Partavling, 7 bord, 14 par. Antal brickor: 24. Medel: 144.0.

Plac  Par Poéng % Namn MID Klubb
1 4 185.1 64.26  Eskil Andgren - Bodil Andgren 60203 63082  Forslovs BK
2 14 164.3 57.05 Kerstin Rosenberg - Alli Sandberg 40794 44125  Forslovs BK
3 2 164.0 56.93  Anders Nilsson - Britt Nilsson 40147 40299  Forslovs BK
4 9 161.7 56.14  Bo Bjurulf - Carina Bjurulf 58905 58906  Forslovs BK
5 8 161.1 55.94  Ann-Britt Arvidsson - Lena Wargren 37284 46557  Forslovs BK
6 13 159.6 55.41 Inge Palsson - Yngve Jonsson 40712 46996 Forslovs BK
7 10 151.7 52.69  Inger Ottosson - Jan Olof Ottosson 28593 6042 Forslévs BK
8 1 1425 49.47 Bo Lundstedt - Knut Knutsson 40742 44127  Forslovs BK
9 5 141.6 49.15 Jan Henrysson - Eva Henrysson 40790 40791 Forslovs BK
10 12 136.7 47.48 Elsie-Marie Andersson - Bengt Andersson 59665 59653  Forslovs BK
11 6 128.7 44.68 Ingemar Jénsson - Gerd Jonsson 43858 43857 Forslovs BK
12 7 126.7 44.01  Tore Karlsson - Kurt Andersson 87604 28588  Forslovs BK
13 3 100.1 34.75  Karl Lundgren - Hans Nordmark 36443 52611  Forslévs BK
14 11 92.3 32.04 Peter Bengtsson - Boel Areskog Bengtsson 46530 46529  Forslovs BK
1 aD Basta kontrakt 2 4 KD1042 Basta kontrakt 3 & D543 Basta kontrakt
Nord v EKn 4v N D -2 -300 Ost v10 2v O =-110 Syd v8 44 S =420
Ingen + D1098743 NS + D8743 ov + D1086
#KD8 & ¢ v & NT *K2 & ¢ v & NT #KD32 & ¢ v & NT
4 K642 410953 N4 7 854 4 EKN96 487 N58 366 ~E76 4102 N 109 7 109
vD73 vK6 S47 754 v9642 vEKn75 S 5836 6 v 107643 vEKn52 S 109 7 109
¢ KKn6 ¢ E2 0965809 +6 ¢ EKn92 O8 4866 4543 ¢ E972 033633
#953 #EKn1074 V 9 6 5 8 9 #EKN53 #D87 V85867 *64 #Kn95 V33633
& EKn87 453 & KKn98
v 1098542 vKD83 vKD9
+5 + K105 + KKn
*62 #10964 «E1087
Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 44 O-2 ¢5 100 100 20| 2 5 4v0-2 5 100 10.0 4 12 44 N+1 w2 450 120 0.0
6 34 V-2 ¢7 100 100 20| 3 11 3v V-2 4K 100 10.0 1 8 3NS+1 ¢33 430 100 2.0
10 3¢ 0-2 ¢5 100 100 20| 4 6 3NO-2 v3 100 10.0 3 6 44 S= &4 420 6.0 6.0
14 2¢ N= *A 90 60 6.0[13 1 24 N-1 vA -100 6.0 9 14 44 S= *6 420 6.0 6.0
7 34 V-1 +Q 50 40 80| 9 10 2v V= oK -110 4.0 10 11 44 S= «4 420 6.0 6.0
11 4v S-1 6 -50 1.0 11.0(12 7 2v V+1 T -140 2.0 5 7 3NS= v4 400 2.0 10.0
1 2¢ N-1 *A -50 1.0 11.0( 8 14 34 N-2 vA -200 0.0 13 2 2NS+2 46 180 0.0 12.0
4875 Bésta kontrakt « ED43 Bésta kontrakt 6 4643 Bésta kontrakt
v EDKn73 4¢ N =130 Nord vE954 3v N =140 Ost vD8 5¢v N =450
+ Kn108 NS + KD7 ov ¢+ E84
#DKn & ¢ v & NT »54 CICR A #EKN1098 & ¢ v & NT
4K106 4 DKn42 N 5 107 5 8 410972 #Kn85 N8 7 97 4875 4 EK102 N 108 119 10
vK1092 v864 S 5 107 5 8 v 63 vKD7 S87 97 v942  v1053 S 108 109 10
+D3 ¢E 083674 ¢ E1082 ¢ Kn65 05545 41093 ¢ KKn76 025243
210842 #E9763 V83674 #KKn7 #D986 V5545 #D642 #53 V252143
« E93 4 K6 4 DKn9
v5 v Kn1082 v EKKn76
+ K976542 4943 ¢ D52
*K5 #E1032 *K7
Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 14 2¢ S+2 v2 130 120 00| 4 7 INN+1 %6 120 11.0 10| 4 7 3NN+1 «A 430 11.0 1.0
4 12 3¢ S= *2 110 80 40| 5 1 INN+1 &6 120 11.0 10| 5 1 3NS+1 &2 430 11.0 1.0
5 7 34S= v2 110 80 40|14 10 24 N= vK 110 80 40|14 10 3NS= a5 400 8.0 4.0
13 2 3¢ S= 46 110 80 40| 2 9 2NN-1 *6 -100 40 8.0|11 12 2v S+2 &5 170 50 7.0
3 6 2¢S= 46 90 40 80| 6 8 4v N-1 *6 -100 40 8.0|13 3 3vS+l 4 170 50 7.0
1 8 1lvN-1 3 -100 20 100(13 3 2NN-1 »8 -100 40 80| 2 9 2NS+1 T 150 2.0 10.0
10 11 2NN-2 *6 -200 0.0 12.0(11 12 24 N-2 *6 -200 0.0 120 6 8 3NS-1 *2 -50 0.0 120
7 » KKn43 Basta kontrakt 8 « EKD102 Basta kontrakt 9 # KKn973 Basta kontrakt
Syd v6 44 S =620 Vast v 10854 64 N =980 Nord v 82 5NT O =-660
Alla + EDKn3 Ingen .7 ov 49752
#10863 & ¢ v o NT K107 & ¢ v &N »98 & ¢ v & NT
4« D10 4876 N 8 8 8 108 4853 aKné6 N 9 128 129 «4E102 4D8 N4 2242
vKD108 vE72 S 8 8 8 108 vE972 v KDKn6é S 9 128 129 vD1063 vEKn54 S 42242
+ K92 ¢ 10754 055525 4983 +652 040500 41043 ¢ EKKn6 09 11119 11
#KD94  #Kn75 V55525 D92 #Kn654 V40500 #KKn5 #E102 vV 9 11119 11
4 E952 4974 4654
v Kn9543 v3 v K97
+ 86 + EKDKn104 + D8
»E2 #E83 «D7643
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
6 2 1laV-2 v6 200 100 2.0| 3 10 3NS+4 &2 520 120 00|12 14 49 O-1 +38 100 12.0 0.0
12 1 INV-2 a4 200 100 20| 5 8 44 N+3 &4 510 100 20| 4 11 4v V= 9 -620 10.0 2.0
14 11 INV-2 LY 200 100 2.0| 6 2 3NN= vK 400 80 40|13 5 3NO+1 &3 -630 8.0 4.0
13 4 1a N+2 &5 140 6.0 6013 4 24 N+4 vK 230 6.0 60 1 2 4vV+l & -650 3.0 90
3 10 INV= +J -90 30 90| 7 9 3¢S+4 &2 190 40 80| 6 9 5v0= +8 -650 3.0 90
7 9 INV= +3 -90 3.0 90(14 11 3¢ S+3 v2 170 20 100 7 3 4v O+1 43 -650 3.0 90
5 8 INV+l ¢3 -120 00 120|12 1 3¢ S+2 vA 150 0.0 120| 8 10 4v V+1l &8 -650 3.0 90
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10 4 K7 Basta kontrakt 11 & K10542 Basta kontrakt 12 4972 Basta kontrakt
Ost v EKn109 4ANT S =630 Syd v E87 64 S =980 Vast v EK82 4v N =620
Alla + K32 Ingen + Kn NS + D76
#EKn64 & ¢ v & NT #10964 & ¢ v & NT #986 & ¢ v & NT
#1065 &E983 N9 9 109 10 & D7 493 N 8 109 129 48653 4 K104 N 7 8 107 9
v5432 vK S 9 9 109 10 v 652 vD1093 S 8 109 129 v10965 v4 S 7 8 107 9
¢E95 ¢ Kn874 044343 ¢+ED6 +8754 042314 .- ¢KKn8542 O 55 35 3
#1087 #K932 V 44343 #87532 #KDKn V42314 #KD732 #Kn54 V54252
& DKn42 & EKn86 & EDKn
v D876 v KKn4 v DKn73
+ D106 + K10932 + E1093
»D5 *E #E10
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 11 4v N= 3 620 120 0.0| 9 11 44 N+2 #J 480 11.0 10| 9 11 4v S= *7 620 120 0.0
1 2 3NN= #3 600 100 20|13 6 44 S+2 46 480 11.0 10| 2 3 2¢ 0-2 &A 100 100 2.0
7 3 2NN+1 &2 150 80 40| 2 3 44 N= K 420 6.0 60| 1 14 4vS-1 *2 -100 40 8.0
6 9 3NN-1 3 -100 40 80| 5 12 44 N= LN 420 60 60| 5 12 3NS-1 *2 -100 40 8.0
8 10 4v N-1 *3 -100 40 80| 8 4 44 N= &K 420 6.0 6.0| 7 10 3NS-1 *2 -100 40 8.0
12 14 4v N-1 LX) -100 40 80| 7 10 34 N+3 &K 230 20 100 8 4 3NS-1 *2 -100 40 8.0
13 5 4v N-2 *4 -200 0.0 120| 1 14 1¢ S+4 v6 150 00 120|13 6 2¢vS-1 *2 -100 40 8.0
13 4983 Bésta kontrakt 14 D83 Bésta kontrakt 15 4 KD865 Bésta kontrakt
Nord vE97 3NT N =600 Ost v2 4v O D -2 300 Syd v KKn52 3NT VD -1100
Alla + K108 Ingen ¢ 754 NS ¢ Kn7
*K975 & ¢ v & NT #EKD742 & ¢ v & NT #Kn9 & ¢ v & NT
«DKn10542 4K N8 87 69 ~Kn & EK95 N86 4909 9 « Kn32 N485 965
v Kn85 v K642 S887509 vD10986543 v Kn S86 4909 v E987 v 10643 S485965
4763 ¢+ D94 05457 4 ¢ Kn ¢+ ED9862 O0O36 844 ¢85 ¢ ED9 095848
+D #EKn643 V54574 #1086 #53 V362844 #E107532 #K84 V948438
2 E76 4107642 «E1074
vD103 v EK7 vD
¢ EKn52 + K103 + K106432
#1082 #Kn9 +D6
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
13 7 INO-3 2 300 120 00| 9 5 54 0-5 &J 250 120 00(10 6 44 N= ¢A 620 12.0 0.0
8 11 24 V-1 v7 100 80 40| 6 1 44N= A 130 100 20|14 3 5#V-3 .7 150 100 2.0
10 12 34 V-1 +8 100 80 40|10 12 5v V-2 «A 100 80 40| 4 5 34N= &4 140 6.0 6.0
14 2 24 V-1 +8 100 80 40(13 7 5&#N-2 s A -100 6.0 6.0 7 2 34N= *4 140 6.0 6.0
6 1 laV+l ©vA -110 40 80| 8 11 3#N-3 *A -150 30 90| 9 12 34 N= &4 140 6.0 6.0
9 5 2v0+1 &T -140 20 100|14 2 44 S-3 +Q -150 30 90|11 1 Pass 2.0 10.0
3 4 3454 *Q -400 0.0 120 3 4 44DS-3 +¢J -500 0.0 120(13 8 44 N-2 *4 -200 0.0 120
16 4 K10742 Basta kontrakt 17 442 Basta kontrakt 18 s E7 Basta kontrakt
Vast vD3 ANT N =430 Nord v ED9632 7v S =1510 Ost v KD1054 44 O =-420
oV + K753 Ingen +3 NS + 107
#EKn & ¢ v & NT #9764 & ¢ v & NT #Kn1054 & ¢ v & NT
aKn3 49865 N 8 119 1010 a- «K109863 N 7 4 121012 « Kn10542 & KD963 N76 734
vE742 vKn85 S 8 109 1010 v 104 v7 S 7 4 131012 vE73 v 98 S76734
¢E98 ¢42 052333 ¢+ Kn109852 ¢ KD76 039030 + K82 ¢ E93 O6 7 6 108
#8753 #K1094 V523833 #D8532 #Knl10 V390830 &E8 K97 V 6 7 6 108
«ED & EDKn75 48
v K1096 v KKn85 v Kn62
+ DKn106 ¢+ E4 + DKn654
+D62 *EK +D632
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
10 6 3NS+2 43 460 120 00|10 1 6v N= T 980 120 00| 5 6 44 0= *4 -420 8.0 40
4 5 3NN+1 #4 430 70 50| 4 14 4vN+3 &T 510 100 20| 8 3 440-= +4 -420 8.0 40
7 2 3NN+1 #4 430 70 50 5 6 4vN+2 a3 480 6.0 6.0(10 1 44 0= v2 -420 8.0 40
13 8 3NN+1 a5 430 70 50| 8 3 4vN+2 ¢K 480 6.0 6.0(12 2 440-= v2 -420 8.0 40
14 3 3NS+1 9 430 70 50|11 7 4vN+2 +6 480 6.0 60|13 9 44 0= +4 -420 8.0 40
9 12 44 N= *9 420 20 100(12 2 4v N= LX) 420 20 100( 4 14 44 O+1 ¢4 -450 1.0 11.0
11 1 3NS= »3 400 0.0 12013 9 3vy N+3 &J 230 00 120|11 7 44 O+1 +6 -450 1.0 11.0
19 a2 Bésta kontrakt 20 & Kn643 Bésta kontrakt 21 & K65 Bésta kontrakt
Syd vE973 44 V =-620 Vast v DKn8 5v V =-650 Nord v74 5¢ OD-3500
oV 410542 Alla + K1052 NS ¢ E95
#Kn743 & ¢ v & NT *K2 & ¢ v & NT #KKn943 & ¢ v & NT
410985 «KD764 N547 36 «ED » K1085 N4 2134 aKn72 410943 N 105 108 9
v1052 vK S547 36 vE vK109753 S 4 2 1 3 4 vKKn95 v- S 105 108 9
4 K983 ¢ EKn7 089 6 107 ¢ EKN84  ¢763 O 9 10119 9 +Kn63 ¢KD108742 O 2 8 3 5 4
*K9 #ED105 vV 89 6 107 #ED9743 &- vV 9 10119 9 #E65 *107 V2835414
# EKn3 4972 ~ ED8
v DKn864 v 642 v ED108632
+ D6 + D9 .-
#862 #Kn10865 #D82
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 14 44 O-1 v4 100 100 20| 1 3 6NV-3 2 300 120 0.0|13 11 4v S= +3 620 12.0 0.0
9 4 44 0-1 &8 100 100 20|12 8 3#V-2 6 200 100 20| 2 4 3vS+l ¢J 170 100 20
13 10 44 O-1 v4 100 100 20| 5 14 3NV= v2 -600 70 50|14 6 5¢ 0-3 vA 150 8.0 40
1 3 24V+3 3 -200 6.0 6.0[13 10 3NV= +5 -600 70 50| 1 9 2vS+1 ¢ 140 6.0 6.0
6 7 44 O= v4 -620 20 100 6 7 3NV+1 2 -630 40 80| 7 8 4vS-1 +3 -100 3.0 9.0
11 2 44 0= v6 -620 20 100(11 2 4v O+1 9 -650 20 10010 5 3NN-1 ¢ 7 -100 3.0 90
12 8 44 O= +6 -620 20 100| 9 4 4v O+2 49 -680 0.0 120|12 3 5vS-2 A -200 0.0 12.0
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22 & K7652 Basta kontrakt 23 4 EKn864 Basta kontrakt 24 4 KKn105 Basta kontrakt
Ost v E8754 34 S =140 Syd v10 44 S D -2 -500 Vast v E42 5& V =-400
ov *7 Alla + K103 Ingen + K73
&E5 & ¢ v & NT #DKn107 & ¢ v & NT K102 L Y
«D8 & Knl104 N55 996 41053 472 N7 7 384 &4 E8742 D N2 6 55
vKn92 vKD S55996 vDKn6 v EK9532 S77 384 vKKn9 vDG63 S2655
¢ E95 + KDKn83 O77 446 ¢ Kn98 ¢ ED5 O6 6 105 7 ¢E ¢ 8642 O 116 7 8
#DKn1098 #762 V77446 &#K863 52 V 6 6 105 7 #9753 &#EDKNn86 V 116 7 8
4 E93 & KD9 4963
v 1063 v 874 v 10875
¢ 10642 ¢ 7642 + DKn1095
#K43 #E94 &4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 3 2NO-2 a3 200 120 00| 3 5 3«4 N= vA 140 11.0 10|13 12 2NN+1 4Q 150 12.0
7 8 2y N+1 ¢K 140 8.0 40(13 12 24 N+1 K 140 110 10f 8 9 3NO-1 +Q 50 10.0
10 5 24 N+1 oK 140 80 40(14 7 440-1 49 100 80 40(14 7 240+1 9 -110 8.0
13 11 2v N+1  ¢J 140 80 40| 2 10 2v O+2 49 -170 50 70| 1 4 240+2 +¢9 -130 4.0
1 9 3¢0-1 v3 100 20 100|11 6 3vO+1 49 -170 50 70| 2 10 3#0+1 9 -130 4.0
2 4 3&V-1 v4 100 20 100 1 4 4vO= 4Q -620 10 110 3 5 2#0+2 +Q -130 4.0
14 6 3aV-1 vA 100 20 100 8 9 4vO= a9 -620 1.0 110|111 6 540= +Q -400 00 1
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